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SER O FRIRXIFERE
HR3—2 EEMITEATALEESNDHEICET HEE/1) HEEEE 20214 )%
AR ONE | BmEs S0IEN053 2 B | T /) [ it 77 Fib i M B o]
SUEFH O T iRICHIET 514 SUERIHPA
%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 429 5357 | Fhst | 000 ~ 429 1.99 10.66 Thns 1.00] 5.00 ~ 5.00 5357 | #hst | 500 ~ 5.00| 1.99 10.66
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st 1.00 | 000 ~ 4383 60.14 [ Zh s | 000 ~ 483 2.03 10.88 Fhst 100 | 500 ~ 6.00 60.14 | Zh L5t | 500 ~ 6.00 | 2.03 10.88
5 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 1.00 | 000 ~ 455 56.75 | #hus | 000 ~ 455 1.90 10.16 Fhst 100 | 500 ~ 500 56.75 | €h kst | 500 ~ 500 | 1.90 10.16
4 100kN/M#ZEH#B % % - -~ - —|3m%E#ZD -~ - - —| 100kN/MZE# B %% — -~ - —|3m%EHBZ 3 -~ - — —
Zh st 1.00 | 000 ~ 475 5920 [ #h st | 000 ~ 475 1.78 9.53 Fhst 100 | 500 ~ 500 59.20 | #hiist | 500 ~ 500 | 1.78 953
5 100kN/mM#Z#B % % — -~ - —|3m&HEZD -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st 1.00 | 000 ~ 4383 60.15 [ Zh s | 000 ~ 483 2.03 10.88 Thst 100 | 500 ~ 6.00 60.15 | Zh kst | 500 ~ 6.00 | 2.03 10.88
6 100kN/M#EH#BZ % — -~ - —|3m%E RS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 584 7312 | #hst | 000 ~ 584 1.78 9.55 Zhst 100 | 500 ~ 6.60 7312 | #hist | 500 ~ 6.60| 1.78 9.55
; 100kN/mM#E#B %% - -~ - —|3m&#EZD -~ - - —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ - — —
Zzh st 1.00 | 000 ~ 577 7211 | Zhust | 000 ~ 577 | 1.80 9.63 Fhst 100 | 500 ~ 650 7211 | #hst | 500 ~ 650 | 1.80 9.63
g 100kN/M%EH#B % % — -~ — —|3m%EHEZD -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 476 5932 | #hList | 000 ~ 476 | 1.77 9.46 Fhst 1.00| 500 ~ 500 5932 | #hist | 500 ~ 500 | 1.77 9.46
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Zh st ~ Thst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zhst ~ zhs ~ Ths ~ Thst ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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